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UG/3rd Sem/G/20(CBCS)

2020

BOTANY (General)
Paper : BOTG - SEC-1

(CBCS)

Full Marks : 40 Time : Two Hours

The figures in the margin indicate full marks.
Candidates are required to give their answers

in their own words as far as practicable.

1. Answer any five questions of the following : 2×5=10

(a) Define garden.

(b) Give any two physical properties of soil.

(c) Write any two technique of drying flowers.

(d) Write the name of any two cultivar species of Orchid.

(e) Name of any two famous garden of India.

(f) What are dry flower?

(g) What is landscape garden?

(h) Write two Indian cultivars of Jasmine.

2. Answer any four questions of the following : 5×4=20

(a) Write the importance and scope of floriculture.

(b) Discuss the making of water garden.

(c) Define bonsai and enlist the different styles of bonsai making.

(d) Write a note on art principles of landscape.

(e) Discuss shortly about rose cultivation.

(f) Write a note on vegetative propagation.
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3. Answer any one question of the following : 10×1=10

(a) Write notes on Gladiolus cultivation.

(b) What is floriculture? Give importance of floriculture. Write a note on
various methods of cultivation of Aster. 2+3+5=10

îDy %̃îy”

1. !˜Á¬!œ!…“þ öë ö„þy˜ þ™¤y‰þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 1×5=5

(a) vþz”Äyöì̃ îû ¢‚Kþy öœ…Ð

(b) ›,!_„þyîû ”%!Ýþ Ÿyîû#!îû„þ •›Å vþzöìÍÔ… „þîûÐ

(c) Ö„þöì̃ y š%þöìœîû ”%!Ýþ ö„þïŸœ öœ…Ð

(d) Orchidéôé~îû ”%!Ýþ Cultivar ²Ì‹y!“þîû ˜y› öœ…Ð

(e) ¦þyîû“þîöì¡ìÅîû ”%!Ýþ !î…Äy“þ vþz”Äyöì̃ îû ˜y› öœ…Ð

(f) Ö„þöì̃ y š%þœ !„þÚ

(g) ¦)þ”,ŸÄ (Landscape) vþz”Äy˜ !„þÚ

(h) Jasmineéôé~îû ”%!Ýþ ¦þyîû“þ#ëû ²Ì‹y!“þîû ˜y› öœ…Ð

2. !˜Á¬!œ!…“þ öë ö„þy˜ ‰þyîû!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 5×4=20

(a) Floriculture Sš%þöìœîû ‰þy¡ìVéôé~îû =îû&c ç ¢%öìëy† !„þ öœ…Ð

(b) ‹öìœîû îy†y˜ (water garden) ÷“þ!îû ¢Áºöìõþ öœ…Ð

(c) î˜¢y£z „þyöì„þ îöìœÚ î˜¢y£z ÷“þ!îûîû !î!¦þ§¬ îû‰þ˜y ö„þïŸœ öœ…Ð

(d) Landscapeéôé~îû !ŸÒ„þœy ¢Áºöìõþ öœ…Ð

(e) ö†yœyþ™ ‰þy¡ì (rose cultivation) ¢Áºöìõþ ¢‚öìÇþöìþ™ öœ…Ð

(f) xD‹ !îhßþyîû ¢Áºöìõþ öœ…Ð
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3. !˜Á¬!œ!…“þ öë ö„þy˜ ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 1×10=10

(a) Gladiolus ‰þy¡ì ¢Áºöìõþ ëy ‹y˜ öœ…Ð 10

(b) š%þœ ‰þy¡ì !„þÚ š%þœ ‰þyöì¡ìîû =îû&c öœ…Ð Aster ‰þyöì¡ìîû !î!¦þ§¬ þ™kþ!“þ ¢Áºöìõþ xyöìœy‰þ˜y
„þîûÐ 2+3+5=10

—————


